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Quiz 3

Math 202 Calculus II

Please show all work and box your final answers. If you need more room, you may use the backs of the
pages. Calculators are not allowed. Good luck!

1. Circle the indeterminate forms which appear below, and do not circle the others.
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2. Evaluate the following limit. If you use L’hospital’s rule, you must first indicate which indeterminate

form the limit has.
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3. Evaluate the following limits. If you use L’hospital’s rule, you must first indicate which indeterminate
form the limit has.
cos(mz) — cos(nx)
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4. Evaluate the following integrals.
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5. Evaluate the following integrals. .. /
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